At the Organic Grocery Store

Mom and Aunt have gone to the grocery store. Can you help me compare who spent more?

Step 1

Cost of 1 pound of vegetables x Number of pounds bought = Total cost of vegetables

Mom bought 4 pounds of radishes and 8 pounds

Aunt bought 2 pounds of radishes and 6 pounds
of carrots. How much did she spent for each?

of tomatoes. How much did she spent for each?

5 1 5 ]
X| 4 X 8 X 2 X 6
$20 $8 $10 $6

Step 2

Total cost of Vegetable 1 + Total cost of Vegetable 2 = Total money spent

Total cost of
radishes

20

+ Total cost of
carrots

8

Total money
spent

$28

+

Total cost
of radishes ‘I O
Total cost b
of carrots

Totadl money spent

Who spent more money?

Aunt
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